














0.06

N g



wp

=E

101

102

103

104

N

w3

B2

101

102

103

104

N







0.80-

0.08-

0.01! : '
3

, 044.







W B

W
1nm T T T T
a
101+ -
102 .
103+ -
104 1 ] | 1 1
0 50 100 150 200
E, YA



Q-

B E

T T T T
a
102t -
104F i
10 611 I I | |
0 200 400 600 800

E, yA



e

T T T T T
a
101}
102+
10 3L
104}
10 5L
| | | 1 |
0 200 400 600 800

E, YA




0.10

0.08

0.06

0.04

0.02

Q_))

|
100
t, &0. 8a.

>

4







N

T T T T [=
WI T T T T
a a
1.000- .
1r- 1 0.500- §
0.100- ]
0_ .
0.050- §
1l | 0.01¢+ .
0.005 .
2—1 1 1 1 O OOO 1 | 1 | | =
1 0 1 2 3 0 50 100 150 200
o E, YA






s10T60EEB'C  86¢SEY0000°0

o
0 «
=
OE
©
o
5
o
~
e
58 8 8 °
g 9 9
g 9 9
e 2 2
© o o
96558500000
| |
N
! -
i _
] _o
] _
] N
I ! : _ _
FN o O o o
O .
|moa
S
o™
410 <
o
«© ©
T
:::,u:l:nnnn\ ::::::::
R [
S S
29 ° 9
o o O

<
N

o
S
S
Q
o

80 100
, A0. 4a.

t

=~

~<
~—
=,

STT~

|~

~-~.

-

~s
-

60 80
E, YA

40

20

110T¥.TEC'T ¥129T90000°0

5

p
4

=

)N

0.00004
0.0000

"
o
o
o
o
o

80 100
, a0. aa.

t

e

IIIIII
\\\\\\
|~

O-f

>

-

60 80
E, yA

40

20

1107 88920°¢C









